Industrial Floor Tiles - Calculator

1. Measure the Length (L) and width (W) of the floor area you need to cover.
2. Use the chart below to calculate the number of tiles you require.
3. Divide your total number of tiles by 25 to determine how many boxes you will need.

For example: 5m x 3m = 93.75 tiles. Must round up to nearest number in lots of 25 = 100
100 + 25 = 4 boxes.

Area (L)
2m 3m 4m 5m 6m 7m 8m 9m 10m
2m 25 375 50 625 75 875 100 1125 125
3m 375 56.25 75 93.75 1125 13125 |150 168.75 1875
4m 50 75 100 125 150 175 200 225 250
5m 625 93.75 125 15625 |1875 21875 [250 28125 [3125
(W) |6m 75 1125 150 1875 |225 2625 |300 3375 | 375
m 875 13125 |175 21875 [2625 30625 (350 39375 |[4375
8m 100 150 200 250 300 350 400 450 500
9m 1125 168.75 | 225 28125 |3375 [39375 |450 50625 |5625
10m |125 1875 | 250 3125 |375 4375 | 500 5625 |625
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